TABLE OF SOLUBILITIES IN WATER

Legend

5= solid

ag = aqueous

d = decomposes
n = not isolated

o v | = o | 2| 3 2
st l5|5|5|8 (8|85 8
c|le |28 |=| 2|5 | 8| |8 |3 |3

S|a|8|5|6|¢z 5
aluminum s |ag | n S | n S |ag |ag | s | aq | d
ammonium aq |aq |aq |aq |aq | aq | aq | aq | aq | aq | aq
barium ag |lag | s |ag| s |ag |ag |ag | s | s | d
calcium ag |laqg | s |ag |aqg |ss |ag |ag | s | s | d
copper (I1) ag lag | s |ag| s | s | n |ag | s |aqg | s
iron (I1) aq | aq S aq n S S aq S aq S
iron (111) ag |lag | n |ag | s S nlag | s S d
lead ag | s S SS | S S S |aq | s ) S
magnesium ag |lag | s |ag|aq | s |ag |aqg | s |aq | d
mercury (1) s | s | s | s n ag | s | s | si
mercury (I1) ag | s S |ag | s S s |ag | s d Si
potassium aq |aq |aq | aq |aq | aq | aq | aq | aq | aq | aq
silver s|s|s|s|s|n|s|s|s|s|s
sodium aqg |aq |aq |aq |aq | aq | aq | aq | aq | aq | aq
zinc ag |aqg | S |ag|aq| s |aq |ag | s |aq | s




